REGALIA							
			CHARTER				
ASSET	DESCRIPTION	BTC REF	REF (Page/ref)	CGO REF	LOCATION	VA	LUE
Grant Of Arms document box	Red wooden box	R61a	22433	61	Town Hall	£	1.00
Seals	3 wax seals of individual Kings of Arms	R61	22433	61	Inside R61a	£	1.00
Boundary changes consent order	Document giving royal consent in 1949 to boundary and ward changes	R90	33055	N/A	Town Hall	£	1.00
Charter of Incorporation	Charter of Incorporation, 1902	R60	38-60	60	Town Hall	£	1.00
Ashtray	Chrome standing ashtray - Presented by Bexhill Athletic Club	R34	15-34	34	Town Hall	£	1.00
Freedom of the Borough drawing	Original cartoon by the political cartoonist 'Mac'	R74	39-74	74	Town Hall	£	1.00
Armorial Bearings	Framed picture of Arms of the Lords of the Manor of Bexhill	R72	37-72	72	Town Hall	£	1.00
Engraving	Framed artists first proof of A S Brook by H Hill	R69	42-69	69	Town Hall	£	1.00
Portrait	Col. Henry Lane		N/A		Town Hall	£	1.00
Certificate of Freedom	Framed Certificate of Freedom of John H. Paton, 1920 - Presented by Cllr. C. Carpenter, Mayor, 1983/84	R79	39-79	79	Town Hall	£	1.00
Portrait, Mullens (mayor)	Mullens	R67	N/A	67	Town Hall	£	1.00
Portrait, Mullens (mayor)	Mullens		N/A		Town Hall	£	1.00
Canvas, Bexhill UDC	3' square canvas depicting town emblems	R73	42-73	73	Town Hall	£	1.00
Arms of Bexhill	Painted and embossed on wood	R83	43-83	83	Town Hall	£	1.00
Bray shield		R91	N/A	N/A	Town Hall	£	1.00
2 books		R92	N/A	N/A	Town Hall	£	1.00
Tile		R93	N/A	N/A	Town Hall	£	1.00
Picture – Committee room 1907	Framed. Town Councillors in committee room	R94	N/A	N/A	Town Hall	£	1.00
Picture – Committee room 2002	Framed. Charter Trustees in committee room	R95	N/A	N/A	Town Hall	£	1.00
Roll of Honour Freedom record book	Containing names of those granted freedom up until 2009	R96	N/A	N/A	Town Hall	£	1.00
Fish Servers	Electro-plated silver with solid silver handles, pierced and presented in a case. Engraved (Knife) 'Presented to the Bexhill Corporation by the Cat Club, 1964'	R52	18-52	52	Town Hall	£	1.00
Bexhill Town Mace	Bexhill Town Mace, silver gilt head with Crest, wood shaft with silver gilt mounts, 3'6" overall Note - The enamelled crest was broken many years ago and has been replaced with a crest on modern material	R8	44782	8	Town Hall	£	1.00
Seal registers		R97	N/A	N/A	Town Hall	£	1.00
Hats	IxTricorn, Ix Bicorn. Unknown age – presumably former Mayor or Deputy Mayor	R98	N/A	N/A	Town Hall	£	1.00
Original Crest artwork	Original art for R14 above	R99	N/A	N/A	Town Hall	£	1.00
Original Grant of Arms	Parchment describing the Arms given to the Borough of Bexhill	R61b	22402	61	Town Hall	£	1.00
Trumpets	2x Silver plated trumpets by Hawkes & Son, London	R23T	34-23	23	Town Hall	£	1.00
Silk Pennants	2x Pennants of the High Sheriff of Sussex	R23P	34-23	23	Town Hall	£	1.00
Trophy Cup	Mullens Garden Cup, Silver I I ½ "high on plinth. Engraved. 'Borough of Bexhill, Council Housing Schemes, Presented by Major W.H.Mullens JP DL as an award for the best garden cultivated by an amateur gardener	R87	35-87		Town Hall	£	1.00
Epergne Centrepiece	Silver centre piece, centre dish and four smaller, all pierced, on central stand, pierced on four feet, 60ozs. on wood plinth with silver plate - Presented by Highwoods Golf Club	RI7	17-17	17	Town Hall	£	1.00
Тгорну Сир	Large silver lidded cup on plinth, two handles, I 12ozs Presented by Major Mullens	R20	35-20	20	Town Hall	£	1.00

Framed photograph	Framed photograph of Lt. Col. A.J. Sansom	R78	42-78	78	Town Hall	£	1.00
Photograph	Framed photograph of Mace	R77	43-77		Town Hall	£	1.00
Painting	Water colour view of South Cliff, Bexhill on Sea, T Rowbatham, 1859	R70	24-70	70	Town Hall	£	1.00
Bronze Figures and Vase	Two female figures and vase, metal - Presented by	R55	18-55	55	Town Hall	£	1.00
War Savings Plaques	Awarded for War Savings 1944 and 1945	R65	41-65	65	Town Hall	£	1.00
Seal Register			N/A		Town Hall	£	1.00
Town Clerk Wig	Formerly of Edward Smith, Town Clerk from 1938- 1963 in original black tin box	R84	43-84	84	Town Hall	£	1.00
Candelabra	Pair EP three light candelabra, 13" plain gadroon	R22	15-22	22	Town Hall	£	1.00
Silver Tray	Silver rectangle tray 20" x 9" plain, two handles - Presented by Hearts of Oak Benefit Society	RI5	23-15	15	Town Hall	£	1.00
Paperweight	Paperweight - "Worshipful Company of Founders 1965"	R57	31-57	57	Town Hall	£	1.00
Tennis Shield	Cooden Beach Tennis Championship, 1982 - Trophy presented to Town Mayor by Mr. P.J. Fynmore	R82	28-82	82	Town Hall	£	1.00
Gold Plate	8½" gold salver, plain - Presented in memoriam of His Highness Maharajah of Cooch Behar - 10ozs. Marked "20ct."	R9	33-9	9	Town Hall	£	1.00
Wall plate	Presented to Town Mayor, October 1984	R80	34-80	80	Town Hall	£	1.00
Salver	Silver 10" salver, plain Chippendale, with four feet - Presented by Bexhill Bowling Club	RII	44886	Ξ	Town Hall	£	1.00
Salver	EP salver - Presented by the Rotary Club of Bexhill	RI4	20-14	14	Town Hall	£	1.00
Salver	Silver 12" salver, plain Chippendale pattern, with four feet - Presented by RAF Wartling	RIO	44855	10	Town Hall	£	1.00
Past Mayor Badge	15ct. gold and enamel Dress Badge of Office with Coat of Arms and Mantling	R5	44693	5	Town Hall	£	1.00
Past Mayoress Badge	15ct. gold and enamel smaller Dress Badge of Office on gold fob pin, as above	R6	44724	6	Town Hall	£	1.00
Hearts of Oak Key	Silver presentation key 5", Hearts of Oak Convalescent Home 1954	R27	32-27	27	Town Hall	£	1.00
Pen and Stand	Black pen and stand - Darby & Joan Club	R4I	20-41	41	Town Hall	£	1.00
Founders Medallion	Medallion - "Worshipful Company Founders 1910"	R56	31-56	56	Town Hall	£	1.00
Cigarette Box	Small silver cigarette box 3" x 3" x 1" EP lid - Presented by Civil Defence 1962	R38	17-38	38	Town Hall	£	1.00
Jubilee Medal	King George V Jubilee Celebration Medal - Bexhill on Sea	R58	30-58	58	Town Hall	£	1.00
Pendant	Diamond set pendant mounted platinum and platinum chain, lace pattern pendant with bow	R7	44772	7	Town Hall	£	1.00
Loving Cup	Pewter three handled Loving Cup - Presented by "Smugglers of Little Common"	RI8	29-18	18	Town Hall	£	1.00
Soda Syphon Stand	EP syphon stand - Gullivers Bowls Club	R31	22-31	31	Town Hall	£	1.00
Rose Bowls	Pair EP rose bowls - Presented Bexhill Rotary	R30	20-30	30	Town Hall	£	1.00
Tea Set	EPBM can shape four piece tea set with sugar tongs Bexhill Hoteliers	R43	22-43	43	Town Hall	£	1.00
Goblet	Bexhill BC 1200th Charter goblet, 4½, no plinth	R88	27-88	88	Town Hall	£	1.00
Silver Spoon	Silver reproduction spoon, engraved 1365- 1965 DSY	R51	31-51	51	Town Hall	£	1.00
Decanter and Glasses	Cut glass decanter with two glasses and silver label - Bexhill & District Scottish Society -Glasses chipped	R53	18-53	53	Town Hall	£	1.00

	-						
Тгорну Сир	Silver trophy cup 8" (no plinth), plain two handles -	R21	23-21	21	Town Hall	£	1.00
Coronation Wine Glass	Presented by HGC Coghlan Coronation (1953) large wine glass	R54	36-54	54	Town Hall	£	1.00
	Crown Staffordshire Loving Cup No. 21, two lion						
China Loving Cup		RI9	30-19	19	Town Hall	£	1.00
	- Presented 1953 Silver and Mother of Pearl presentation trowel,		\longrightarrow		 		—
Trowel	engraved	R24	36-24	24	Town Hall	£	1.00
	Town Hall Extension 1908, etc.	 `	Щ				
Trowel	EP trowel, ivory handle, Hospital Chapel 1954	R25	36-25	25	Town Hall	£	1.00
Ashtray	Square EP ashtray - Presented by Sidley Bowls Club	R32	15-32	32	Town Hall	£	1.00
Display Panel	Roll of Honour, 1939/45 – Civilian war dead	R62	13-	62	Above Display Town Hall	£	1.00
Key	Silver and enamel presentation key, Bexhill Coat of	R26	32-26	26	In display cabinet, Town Hall	£	1.00
	Arms Silver gilt presentation key 5", opening new Post		\longrightarrow		······································	\vdash	—
Key	Office	R28	32-28	28	In display cabinet, Town Hall	£	1.00
	1931, etc., sterling silver		igspace	<u></u>	 '	ـــــ	
Cigar box	Silver cigar box 6" x 4" x 3" ET lid, wood lined - Presented by Sidley Community Centre 1962	R37	17-37	37	In display cabinet, Town Hall	£	1.00
	Silver box 5" x 4" x 1" plain, cedar lined, engraved		\longrightarrow		 	\vdash	—
Cigar box	Crest	R36	27-36	36	In display cabinet, Town Hall	£	1.00
	and Xmas 1909	 	<u> </u>		Lines Taum Hall	Ļ	' 00
Table lighter	EP Ronson, "Queen Anne" style table lighter	R35	20-35	33	In display cabinet, Town Hall	£	1.00
ink Well	Round silver single ink well - Presented by Spartan Bowling Club	R40	19-40	40	In display cabinet, Town Hall	£	1.00
		<u></u>	\longrightarrow			\vdash	—
Ink Stand	Silver ink stand, single glass bottle - Presented by	R39	19-39	39	In display cabinet, Town Hall	£	1.00
	Association of Bexhill Citizens		\longrightarrow	<i>_</i>	<u> </u> '	<u> </u>	
Tea Spoons	Set of six silver teaspoons and tongs, plain Old English	R29	23-29	29	Town Hall	£	1.00
	EP 14" salver, ornate engraved, shell boarder, with			<i></i>	'		
Salver		RI3	22-13	13	In display cabinet, Town Hall	£	1.00
	feet - Presented by Bexhill Sailing Club, 1962 Foreign (Spanish?) silver and gilt beaker, embossed		\longrightarrow		 		
Goblet	eastern	R50	19-50	50	In display cabinet, Town Hall	£	1.00
	decoration	<u> </u>	igsquare	'	<u> ' ' ' </u>	<u></u>	!
Salver	Silver 14" salver, plain Chippendale, with four scroll	RI2	44916		In display cabinet, Town Hall	£	1 00
alver	feet - Presented by National Union of Printing, etc	KIZ	7771	7	In display cabillet, 10wil Flair	^L	1.00
Coffee Pot		R44	27-44	44	In display cabinet, Town Hall	£	1.00
	21 piece Minton bone china tea set, 6 cups, 6						
China Tea set	·	R42	34-42	42	1	1	ľ
Kettle and Stand	tea plates, 1 B&B plate, sugar bowl and milk jug EP kettle on stand with lamp, fluted, embossed	R45	29-45	45	In display cabinet, Town Hall	£	1.00
Lettle and Stand	EP kettle on stand with lamp, fluted, embossed Larger silver centre piece, oval base, 28" x 19" -	K45	29-45		In display cabillet, 10wil i all		1.00
	silver	1	1)	, ,	1	1	ľ
	figures of huntsman horses hounds stag etc. by	1	1)	!	1'	1	E 1.00
Centrepiece		R16	16-16	16	In display cabinet, Town Hall	£	
	Garrards, London, 1869, approx. weight 700ozs.	1	1)	, ,	1	1	ļ
	Presented by Mrs. Charles Gulliver 1962	<u> </u>	<u> </u>	<u></u> '	<u> </u>		
Dirk and Sheath	Silver mounted dirk in sheath	R48	28-48	48	In display cabinet, Town Hall	£	1.00
Letter Opener	Silver mounted ivory letter opener	R47	28-47	47	In display cabinet, Town Hall	£	1.00
Large Seal		R100	N/A		Town Hall	£	1.00
Dish	Foreign silver round dish, no mark, 12ozs., fancy edge	R49	28-49	49	In display cabinet, Town Hall	£	1.00
Portrait	·	RIOI	N/A	/ ·	Town Hall	£	1.00
Chair	,	R102	N/A		Town Hall – In Chamber	£	
Walnut Gavel		R103	N/A		Town Hall – Location tbc	£	
Wooden Roll board	Roll of Honorary Freeman (Borough of Bexhill)	R63	N/A		Town Hall – Location tbc	£	
	15ct. gold Mayor's Badge of Office, enamelled Crest		1507		TOWITTIAN LOCASION IS	-	1.0.
Mayor's Chain (with	and	1	1 1	1 1	1	1	
detachable badge)	Mantling, 21 ozs.	L . '	44571	!	L '	1,	' 00
	9ct. gold Chain of Office for above with blue enamelled	RI	44571	i 7	With Mayor	£	1.00
		1	1)	1 1	1	1	
	Central Badge and nineteen separate gold Badges	1	1)	, ,	1	1	

	L .,						
Mayor's Badge	Silver and enamel Badge of Office with Coat of Arms and Manuface blue withbox Breezered by Dr. Claude	R2	44603 2 W		With Mayor	£	1.00
	Mantling – blue ribbon - Presented by Dr. Claude				,		
	Pycroft 18ct. gold and enamel rose diamond set Mayoress'						
	Badge						
Mayoress' Badge	on Chain, enamelled Badge and Mantling, rose	R3	44631	3	With Mayor	£	1.00
	diamond set surround 2ozs						
Deputy Mayor's Badge	Silver gilt and enamel Badge of Office on Ribbon -	R4	44662	4	With Deputy Mayor	£	1.00
Deputy Mayor's Bauge	Presented by British South Africa Company		44002		. , ,	_	1.00
Wooden Roll Board	Mayors of Chartered Trustees 1974-2015	R104	N/A	N/A	Town Hall – In Chamber	£	1.00
Wooden Roll Board	Mayors of Chartered Trustees 2015-2020	R105	N/A	N/A	Town Hall – In Chamber	£	1.00
Painting	Oil painting, 'Spring in Town Hall Square' – Donated by Cllr. A. Stevens, May 1985	R71	N/A	71	Location unknown	£	1.00
	Carved plaque – Presented to HMS Scourge by						
Plaque	Bexhill	R85	40-85	85	Location unknown	£	1.00
Photograph	Corporation and later returned Framed photograph of HMS Scourge	R86	40-86	86	Location unknown	£	1.00
Portrait	Lt.Col. H. Lane, painted 1895	R89	N/A		Location unknown	£	1.00
T Of the dic	Miss Amy Young's book of cuttings and	107	1477	0,	Location unknown	_	1.00
Cuttings Book	photographs – Memories of Old Cooden, Bexhill etc.	R81	N/A	81	Location unknown	£	1.00
Plaque	Plaque "HMS Scourge"	R64	40-64	64	Location unknown	£	1.00
Portrait	Portrait in oils, Alderman Cuthbert, Mayor, 1936/42	R68	N/A	68	Location unknown	£	1.00
Photograph	Framed photograph 6ft x 2ft Bexhill Charter1952	R75	N/A	75	Location unknown	£	1.00
Unknown		R33	N/A	33	Listed as an asset but no other information	£	1.00
Unknown		R46	N/A	46	Listed as an asset but no other information	£	1.00
Unknown		R59	N/A	59	Listed as an asset but no other information	£	1.00
Unknown		R66	N/A	66	Listed as an asset but no other information	£	1.00
Unknown		R76	N/A	76	Listed as an asset but no other information	£	1.00
Laptop	Lenovo Laptop Town Clerk	01			Town Clerk's Home	£	545.00
Laptop	Lenovo Laptop Assistant Clerk	O2			Assistant Clerk's Home	£	545.00
Radio microphones	Manufacturer's name 'Shure' 3 x microphones I x adaptor and I x control box plus 2 microphone holders				Scout Hut, Wainwright Road.	£	1.00
Shotgun microphone	Manufacturer's name 'Shure'				Scout Hut, Wainwright Road.	£	1.00
Digital projector	Two power cables; two pc leads and a remote control (Manufacturer -Benq)				Scout Hut, Wainwright Road.	£	1.00
Webcaster	One video webcaster; two antenna; I power cable and I wireless mouse				Scout Hut, Wainwright Road.	£	1.00
Webcam	Manufacturer Logitech				Scout Hut, Wainwright Road.	£	1.00
Webcam	Small - manufacturer – Logitech				Scout Hut, Wainwright Road.	£	1.00
USB 3.0 7-port hub	Manufacturer TP-Link with USB cable				Scout Hut, Wainwright Road.	£	1.00
Keyboard	Manufacturer: Acer				Scout Hut, Wainwright Road.	£	1.00
22" Monitor	Manufacturer: Phillips - plus power cable				Scout Hut, Wainwright Road.	£	1.00
4 socket extension lead					Scout Hut, Wainwright Road.	£	1.00

4 socket extension lead			Scout Hut, Wainwright Road.	£	1.00
4 socket extension lead			Scout Hut, Wainwright Road.	£	1.00
3 plug adapter			Scout Hut, Wainwright Road.	£	1.00
USB extension cable			Scout Hut, Wainwright Road.	£	1.00
Projector cable			Scout Hut, Wainwright Road.	£	1.00
HDMI cable			Scout Hut, Wainwright Road.	£	1.00
USB extension cable			Scout Hut, Wainwright Road.	£	1.00
USB extension cable			Scout Hut, Wainwright Road.	£	1.00
HDMI cable			Scout Hut, Wainwright Road.	£	1.00
Cable protector			Scout Hut, Wainwright Road.	£	1.00
Webcam remote			Scout Hut, Wainwright Road.	£	1.00
Kitchen timer			Scout Hut, Wainwright Road.	£	1.00
Patch cable			Scout Hut, Wainwright Road.	£	1.00
Apple mouse			Scout Hut, Wainwright Road.	£	1.00
Two wooden blocks	Manufacturer 'Small Rig'		Scout Hut, Wainwright Road.	£	1.00
Camera stand	Manufacturer 'KF Concept'		Scout Hut, Wainwright Road.	£	1.00
2 speakers	Manufacturer 'Yamaha' comes with 2 x stands and power cables		Scout Hut, Wainwright Road.	£	1.00
				£ 1,	227.00